MAT 1575 Name (Print): JoLunoNs

Fall 2014

Professor K. Poirier

Test #2

October 28 Time Limit: 100 Minutes

This exam contains 6 pages and 8 problems, including one extra-credit problem. Check to see if
any pages are missing. Print your name on the top of this page, and put your initials on the top of
every page, in case the pages become separated.

You may use a calculator on this test. No other aids are allowed. Show all your work for full credit.

Total: 50 points, including 2 points for overall style (this includes using all notation correctly
and presenting the work logically).

CHECK ALL ANTIDERIVATIVES BY DIFFERENTIATING

1. (6 points) Evaluate the following integral.
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2. {6 points) Evaluate the following integral.

/’ (222 + 3z — 1)dz

- DE+1p \
- 2
IX " +%x — | . AL B, _¢ _ _
(X=X ) > X— X+ | (x+1) LN
X ¥
= A G+ 8 &N T ek f_ ;;
-1 ) > r‘i(] >
Q\{ R
S0 Lx ' Bx—| = Algr)E+ plen(xH) + Clet)
I
l+¥:_’: \'P X=1: "
2-2-1 = C=1-n 724+ 2-1 = AG+)? i(
= = 4 - 44 Tl
l =c > |~
I = A +1 T
& s chace 1 Siwe whet baedom - it l"'“d_ — |
[P X=0 - eary T wwk wibe + =
<h e 3T
“‘I = \ (01f52+‘ B(O'l)((}i—l) -’——[ -(O._;) ,:;;3
I l - B — | '
B =1 W
R N i S - [ 1 | let u-xl
dx = —_ oy . e X+
J (X‘I)LXT(BL g =0 ax + X1 | ox + J(X_‘,f)z_ G“;[=dx
= Qo x| Hha| 1) 4 [ utdu
= D lset] + R0 lery] — 4 te
— 1 a4
= Julx-1] 4 Al = 5+ €
(RECK oassume ¥X-130 ond xti1v0) ( Oy e 4 )
d . S = ; b = Ty B her) ey
Sl + Sl 1 ey ‘e ) Tt T o e



MAT 1575

Test #2 - Page 3 of 6 October 28
3. (6 points) Evaluate the following integral.
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4. (6 points) Determine whether the integral converges or diverges. If it converges, evaluate it.
\ If it diverges, explain why.
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5. (6 points) Determine whether the integral converges or diverges. If it converges, evaluate it.
If it diverges, explain why.
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W\‘}ﬂjﬂf : 6. (6 points) Determine whether the integral converges or diverges. If it converges, evaluate it.
M ": e ,Ls\“u) If it diverges, explain why.
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7. (6 points) Determine whether the integral converges or diverges. If it converges, evaluate it.
If it diverges, explain why.
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1.
8. (6 points) Find the Taylor polynomial of degree 3 for f(z) = cos(z) at @ = g (Do not use
your calculator.)
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